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Perambalur'District
11 -STD SECOND MID TERM EXAMINATION - 2024

TIME : 1.30 Hrs MATHS MARKS : 45
' PART - A
L Answer all the questions
iL. Choose the most suitable answer from the given Jour alternatives. 10X1=10

A 1
L. I A-—.[_] J,thenforwhatvalueofi, A*=07?

a) o b) 1 c) -1 d)1
2: _ Ifthepoint_s (¥,-2),(5,2),(8,8) are collinear, then x is equal to
a) -3 b) -;- c) 1 d)3
0 a-- —b
3. The value of the determinant of 4=|-a 0 ¢ | is
. b —-¢c 0
a) —2abc b) abc c) 0 d) a® +b% +c*

g
4. If4 =[ :J is a singular matrix, then the value of 4 is
a

a) 2 b) 4 c) -4 d) +4
5. Thevalue of AB+BC +DA+CD is
a) AD - b) CA c) 0 d) - AD

6. 1fa andb aretwo vectors of magnitude 2 and inclined at an angle 60°, then the
angle between G and a+5 is

a)30° b) 60° ‘ c) 45° d) 90°
7.  If 2/ -3j+k and 4i +k j+2k are parallel vectors, then the value of f is
' a) 3 b) -3 c) -6 d) 6
8. im0 _
XD x
a) logab b) log(EJ c) lo{é) d) 2
b a S 'h
9 lim sinx _
¥ X—po - " -
a) 1 b) o c) d) -
@siny
10.  The value of 151(1)\/—:-2— is
a) l b) -1 c)0 d) o
: PART-B -
L. Answer any four questions:— ‘
i Question No. 16 is compulsory:—, 4X2=8
L@
11. IfA=l:0 IJ , then compute A4°*,

‘12. If (k,2),(2,4) and (3, 2) are vertices of the triangle of area 4 square units then
determine the value of & .
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13. For any vectors 7, prove that 7 = (7 .}y 4 (7. DI+FBF.
4. Ifa=2+4ij+kandj; ~2j+3k are perpendicular vector, then find the valye of 4.

e

15. Compute lim

> oy 1

' 1 4
16. IfA" = , then find 47
z2 3
PART - C
L Answer any four questions:--
i Question No, 22 is compulsory; -, 4X3=12
B Ak y _
7. Express the matrix | _ 2 -2 1 |asthe sum of a Symmetric and a skew-symmetric
‘ -4 -5 2
matrices,
18. If 4 and B be two Symmetric matrices, then prove that 4B + B4 is a symmetric
matrix.

19.  Show that the points whose position vectors are 2/ +37-5£ 37 4 J=2F and
6i 57 +7Fk are collinear. s :
20.  Find the angle between the vectors 27+ j—£ and 742 j+k using vector product.

: luate lim
21 Evauae:_'osinﬁr

22.  For any two vectors a and 4, prove that"&xb"zﬂé-ﬂ)’ =[¢‘z‘ﬂb‘,2 !

: PART-D
L Answer all the questions:— 3X5=15
a’ be  acset! :
23. (a) Prove that a’+ab - p? ac |=4q°p%? (or)

ab b’ +be ¢

bte o 4
(b) Using Factor theorem, show that [e+a 5 32| (@+b+c)a-b)b —c)c—a).
' a+b ¢ o2 {

.

24. (a) Show that the points whose position vectors 47 - s ik, =j-k, 3 +97+4F and

~4i +47 +4F are coplanar. (or)
(b) The'medians of a triangle are concurrent.
25. (a) Prove that Ir'.ﬂ 5";—~8 =1, (or)
2be — g* c” B a b ¢|? |
(b) Show that | > 2e0—b" " g2 |_Tp c a
b? By 2ab-c*| ¢ a4 p
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